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二阶线性中立时滞方程非振动解的存在性 + 0 .

参 考 文 献

Γ3」Τ Β Π∀ 5 < Δ 6∀ ∃ Ν  % 5 Α ≅ % Α Υ 6< ;
∀ :> 9 % ∋ 6∀  

�

η Λ 6>& ∀ 5 ∀ ∀ < = 5 < 5 < > ∀ 6ΠΠ% &< : Ε > < ΠΒ & 6< 5 < = > ∀ ∀ < 5 Α < :Α ∀ :

Π65 ∀ % : 5 ∀ Β & : % Π Α ∀ Π叮
∀

明就6< 5
�

�
�

; %亡∋
�

4 几% Π
�

4即 3
� ,

3 00  
,

( (  Κ ) + 2一) )  
�

Γ(」ι Ε < : 63 % 5 Α _%Α %> ι
�

ς > ∀ 6ΠΠ%& 6< 5 Ψ ∋ ∀ < : Ε =< : 8 ∀ Π叮 8 6==∀ : ∀
5& 6% Π η α Β %& 6< 5 > ϕ 6&∋ 4 9 9 Π6∀%& 6< 5 >

�

ς Λ =< : Α

Χ 5 6Δ Ξ : ∀ > > ,

_< 5 Α < 5 ,
3 0 0 3

�

3+, 7∋%5 φ ? ι %5 Α κΒ �  
�

ς 5 ∀Λ 6>& ∀ 5 ∀ ∀ < = 9 < > 6& 6Δ ∀ >< ΠΒ& 6< 5 > =< : 5 ∀Β& : % Π Α 6==∀
: ∀

5& 6% Π ∀

卿
% & 6< 5

�

! ∀乞∀ < ∀ ∀

乞几 Θ∋ 云5 % ! ∀丙 ∀> 4
,

30 0(
,

/ Κ ./  一.0 −
�

β)〕Θ ∋ ∀ 5 φ ]65 =%
�

ς 5 &∋ ∀ < > ∀ 6ΠΠ% & 6< 5 < = ∋ 6φ∋
< : Α ∀ : ; 6Λ ∀Α 5 ∀

Β& : % Π ∀ α Β % & 6< 5 >
�

�
�

匆
>

,

! ∀艺
�

材
。亡∋

�

! ∀乞
� ,

∗65
Ρ ∋65 ∀ > ∀, (−− 3

,
( 3 ∗+ ,

Κ ( / .一 (0 (
�

Γ 3 Θ ∋ ∀ 5 φ ]65 =%
,

4 5 5 6∀ Υ ∋ % 5 φ
�

< > ∀ 6ΠΠ% & 6< 5 ∀ : 6& ∀ : 6% =<
:
; &∋ < : Α ∀ : 5 ∀ Β & :% Π=Β 5 ∀ &6< 5 %Π Α 6==∀

: ∀ 5 ∀ ∀ ∀ α Β % &6< 5 >
�

4 Ρ &% ; % &∋
,

从“‘∀ % ,

∗65
∀ ∋65 ∀ >∀

, (− − (
,
)  ∗2 ,

Κ 3 ( −界3 ( 3 (
�

η [ Φ! Ψ η γ Θ η ς λ γ ς γ ς ! Θ Φ_ _ 4 Ψ ς Ν κ ! ς _Χ Ψ Φς γ Ψ ς ! η Θ ς γ 8

ς Ν 8 η Ν _Φγ η 4 Ν γ η Χ Ψ Ν 4 _ 8 η _ 4 κ η ϑ Χ 4 Ψ Φς γ

Θ ∋∀ 5 φ ]65 =%

∗8 印% Κ &< ∀ 。亡<= ∃
% &∋ ∀ < %亡‘∀ > ,

爪
% < ∀ 、

流乞。∀ Κ >云&夕
,

爪
% ; ∀ < + 2 3− −  ,

4 5 5 6∀ 7

∗8 印
% : &< ∀ < & <= ∃

% &∋ ∀ ; %亡乞∀ > ,

? “。%
、

>

从。Α。 流云。 ∀ Κ >坛忿,
,

ε% 、。 % >‘( ( 3− −  
,

Φ5 成
%

,

4 μ > & : % ∀ & Θ < 5 > 6Α ∀ &∋ ∀ 5 ∀ Β & : %Π Α ∀ Π叮 Α 6==∀
: ∀5& 6% Π ∀ α Β % &6< 5 ϕ 6&∋ 9 < < 6&6Δ ∀ % 5 Α 5 ∀ φ % &6Δ ∀ ∀ < χ

∀==6 ∀ 6∀5& >

Α 7 。 , 、 � , , 、、
‘

。 , 八 , 、 ⎯ 、

。
, 、 、 , 、

丽
_Λ 、不, 十 9 Λ 又不一 Ψ ,�十 呵‘、石,工、乙 一 � Π , 一 写( 、乙, Λ 、不 一 仃 ( , Μ Χ ,

ϕ ∋ ∀ : ∀ 尹 任 Ν % 5 Α 二 任 ∗<
,

Ρ< ,
,
。6 ,

% 7 任 β<
,

<< ,
% 5 Α ϑ Π ,

ϑ Κ Ρ Θ ∗Γ&
。 ,

Ρ< ,
,

Ν Η
,

�

!< ; ∀ > Β ==6 ∀ ∀5&
∀ < 5 Α 6&6< 5 >

& ∀ : ; > < = 了

=< : &∋ ∀ ∀ Λ 6>&∀ 5 ∀ ∀ < = % 5 < 5 < > ∀ 6ΠΠ% & < : Ε > < ΠΒ &6< 5 & < &∋ ∀ %μ <Δ
∀ ∀

αΒ %& 6< 5 ∀

ΛΞ
: ∀ > > 65 &∋∀

> ϑ、Α。 Σ 阅
,

乞二 3
,

( %: ∀ < μ &
,

% 65 ∀ Α
�

Ψ ∋∀ > ∀ : ∀ > Β Π&> Α ∀ Π∀ &∀ % : % &∋∀ : > &:< 5 φ % > > Β ; 9 &6< 5

65 Γ3」
, % 5 Α 6; 9 :

<Δ
∀ > < ; ∀ &∋ ∀ < : ∀ ; > 65 【3∴

�

Τ ∀ Ε ϕ<
: Α > γ ∀ Β &: % Π Α 6==∀

: ∀5& 6% Π ∀ α Β % &6< 5 , < > ∀6ΠΠ% &6< 5
, ∀ < 5& : % ∀ & &∋ ∀ < : ∀;

�


